You try April 11, 2012

Find the radius and center of the following circle
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20) AHy*-by-3=0
Stepds  x* ty=-by=3
Step2t  x* +y*-6y+d =319
Stepss  (x-o)*+ (Y-3)*= (2

enter(0.,3) =12
¢ > k= s!?s’
= 2{3 units



b) a*+ y*-l0x ~=1=0
Gtepds  x*-1ox +y*=|
Step2: a*i0x+25 +y*=1+25
Step38  (x-5)° + (3__0)9.: 2%
Center (5,0) 5 r=V26 units.




€) X*+y?-Mx -2y +1=0
Stepd ¢ x*-NX +y*-2y =-|
Step2? X-Nx+M+y*-2y+l=-lti+]
Step3s (x-2)*+ (y-1)*=H
Center (2,1) ) r=N4

r=2 units



d) X*+y°t+ex - 8y +19=0
Stpd A*+ex +y*-8y=-I9
Step 20 X% bx+9 + .9*-83“@:—1%%!@
Srep3 ¢ (?(’+3)1+(3“"1)1= 6
Center -3,M) ; ¢={6 units



€) Jx* +3y*-18% + 30y 100 =0
EXTRA STEPE Divide each term by 3.
X%+ y*=ex+ 10y 15€=0

Stepd: x’-bx +yiri0y= G
Step2:i A*-ex+9 + Sl-ﬂow:w: -J%Q-HHQS
Step3s (X-3)* + (3+5)"‘= "'J_lef.}i-:i'_‘t

(x=3)*+ (y+5)* = -100 + 102

(-3 + (ye5) = 2

!

Center (3,-5) ; r=%'um'ts



£) A4y +12% -1y +85=0
Otepd: ™+ -+nji-—l“fj=-8’5
Sfep2o  X*+i2x+ Soty*ity+19=-55+3+49
Step3: (X+6)* + (y=ND*=0

Center -6,1) 5 r=\0
(=0

* Since =0, we have only The point (6,1)
and not a circle. |



9) X+ gt -4+ 2446 =0

Stepd: A-4%X +4*+2y=-0
Step2? X=HxtH +y*+2ytl=-6tHt|
Step3e (a-2)"+(y+1)*=-

* We can stop here Since {f -1,

This 1S + the e \,Lﬁhcm O
cwdle or pmn+



h) 2x*+2y*+20x-124 +18 =0
EXTRA STEP. Divide €ach term b32.
X*+y*+10x -6y +9 =0
Stepds X*+10X +3"—63 =-9
Step2 € '){’l+1ov<+25+aﬂ—aa-i—q:-qirz-*jm
Stepse (A+5)*+(y-3)*=25
Center (—533)5 r={25

r=8 umts.
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Worksheet
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